Exercise #16 for System Simulation 

You have simulated two systems for 7 replications each. The sample means for response times from system #1 are 110, 105 110, 108, 102, 112, and 98 milliseconds, and from system #2 they are 110, 90, 100, 80, 85, 85, and 105 milliseconds. Can you, with 95% confidence, state that system #2 has lower response time than system #1? Why or why not? Show your work. A T-score table is given below.
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	4
	2.13
	2.78

	5
	2.02
	2.57

	6
	1.94
	2.45

	7
	1.90
	2.37

	8
	1.86
	2.31

	9
	1.83
	2.26

	10
	1.81
	2.23

	11
	1.80
	2.20

	12
	1.78
	2.18
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